

الرياضيات

اليوم الثالث من الوحدة الأولى

$$4) f(x) = \sin^3 x \cdot \sin 2x$$

$$= \sin^3 x \cdot 2 \sin x \cdot \cos x$$

$$= 2 \cos x \cdot \sin^4 x$$

$$f(x) = 2 \frac{\sin^5 x}{5}$$

$$1) f(x) = \frac{1}{\sqrt{x}\sqrt{x}}$$

$$= \frac{1}{\sqrt{x \cdot x}} = \frac{1}{\sqrt{x^2}}$$

$$= \frac{1}{(x^{\frac{3}{2}})^{\frac{1}{2}}} = \frac{1}{x^{\frac{3}{4}}} = x^{-\frac{3}{4}}$$

$$5) f(x) = 2x + 5 - \csc^2 x$$

$\csc x = \frac{1}{\sin x}$ $\sec x = \frac{1}{\cos x}$

$$f(x) = x^{-\frac{3}{4}+1} = x^{\frac{1}{4}} = \sqrt[4]{x}$$

$$= 2x + 5 - \frac{1}{\sin^2 x}$$

$$2) f(x) = \frac{1-x^2}{x\sqrt{x}}$$

$$f(x) = x^2 + 5x + 8x$$

$$= \frac{1-x^2}{x \cdot x^{\frac{1}{2}}} = \frac{1-x^2}{x^{\frac{3}{2}}}$$

$$6) f(x) = \frac{1}{\sqrt{x+x\sqrt{x}}}$$

$$= \frac{1}{\sqrt{x(1+\sqrt{x})}} = \frac{1}{\sqrt{x}\sqrt{1+\sqrt{x}}}$$

$$= \frac{1}{x^{\frac{3}{2}}} - \frac{x^2}{x^{\frac{3}{2}}} = x^{-\frac{3}{2}} - x^{\frac{1}{2}}$$

$$= \frac{1}{\sqrt{x}} (1+\sqrt{x})^{-\frac{1}{2}}$$

$$f(x) = x^{-\frac{1}{2}} - \frac{x^{\frac{3}{2}}}{\frac{3}{2}} = -\frac{1}{\sqrt{x}} - \frac{2}{3} \sqrt{x^3}$$

$$= 2 \frac{1}{2\sqrt{x}} (1+\sqrt{x})^{-\frac{1}{2}}$$

$$3) f(x) = \frac{x^3}{\sqrt[3]{x}}$$

$$= x^3 \cdot x^{-\frac{1}{3}} = x^{\frac{8}{3}}$$

$$f(x) = 2 \frac{(1+\sqrt{x})^{\frac{1}{2}}}{\frac{1}{2}} = 4\sqrt{1+\sqrt{x}}$$

$$f(x) = \frac{x^{\frac{11}{3}}}{\frac{11}{3}} = \frac{3}{11} \sqrt[3]{x^{11}}$$

Subject



$$8) P(x) = \frac{x^4 + 4}{x^2 - 4}$$

$$7) P(x) = 2x \cos^2 x$$

$$\begin{array}{r} x^2 - 4 \overline{) x^4 + 4} \\ \underline{x^4 - 4x^2} \\ -4x^2 + 4 \\ \underline{-4x^2 - 16} \\ 20 \end{array}$$

$$\begin{aligned} &= 2x \cdot \frac{1 + \cos 2x}{2} \\ &= x + x \cos 2x \end{aligned}$$

$$F(x) = \int_0^x P(t) dt$$

$$P(x) = x^2 - 4 + \frac{20}{x^2 - 4}$$

$$= \int_0^x (t + \cos 2t) dt$$

$$\frac{20}{(x-2)(x+2)} = \frac{A}{x-2} + \frac{B}{x+2}$$

$$= \int_0^x t dt + \int_0^x t \cos 2t dt$$

$G(x)$

$$20 = A(x+2) + B(x-2)$$

$$x=2 : A \text{ only}$$

$$G(x) = \int_0^x t \cos 2t dt$$

$$20 = 4A \Rightarrow A = 5$$

$$x=-2 : B \text{ only}$$

$$u = t \quad u' = 1$$

$$20 = -4B \Rightarrow B = -5$$

$$v' = \cos 2t \quad v = \frac{1}{2} \sin 2t$$

$$P(x) = x^2 - 4 + \frac{5}{x-2} - \frac{5}{x+2}$$

$$G(x) = \left[\frac{t}{2} \sin 2t \right]_0^x - \int_0^x \frac{1}{2} \sin 2t dt$$

$$F(x) = \frac{x^3}{3} - 4x + 5 \ln|x-2| - 5 \ln|x+2|$$

$$= \frac{x}{2} \sin 2x + \frac{1}{4} [\cos 2t]_0^x$$

$$= \frac{x^3}{3} - 4x + 5 \ln \left| \frac{x-2}{x+2} \right|$$

$$= \frac{x}{2} \sin 2x + \frac{1}{4} \cos 2x - \frac{1}{4}$$

$$= \frac{x}{2} \sin 2x + \frac{1}{4} \cos 2x$$

$$F(x) = \left[\frac{t^2}{2} \right]_0^x + \frac{x}{2} \sin 2x + \frac{1}{4} \cos 2x$$

$$= \frac{x^2}{2} + \frac{x}{2} \sin 2x + \frac{1}{4} \cos 2x$$

$$\cot x \xrightarrow{\frac{-1}{\sin^2 x}} -(1 + \cot^2 x)$$

Subject

$$(\cot 3x)^2 = \frac{-3}{\sin^2 3x} = -3(1 + \cot^2 3x)$$

$$= 1 + \frac{\cot^2 3x}{\sin^2 3x}$$

$$9) f(x) = \frac{x^3 + 2}{x^2 - 1}$$

$$= 1 + \cot^2 3x$$

موضوع
19211109

$$\frac{x}{x^2 - 1} \begin{array}{r} x^3 + 2 \\ x^3 - x \\ \hline -x + 2 \end{array}$$

$$f(x) = -\frac{1}{3} \cot 3x$$

$$ii) f(x) = x \sqrt{x+1} \xrightarrow{2x} = x(x+1)^{\frac{1}{2}}$$

$$f(x) = x + \frac{-x+2}{x^2-1}$$

$$= (x+1-1)(x+1)^{\frac{1}{2}}$$

$$\frac{-x+2}{(x-1)(x+1)} = \frac{A}{x-1} + \frac{B}{x+1}$$

$$= (x+1)(x+1)^{\frac{1}{2}} - (x+1)^{\frac{1}{2}}$$

$$-x+2 = A(x+1) + B(x-1)$$

$$= (x+1)^{\frac{3}{2}} - (x+1)^{\frac{1}{2}}$$

$$x=1 \Rightarrow A=1$$

$$f(x) = \frac{(x+1)^{\frac{5}{2}}}{\frac{5}{2}} - \frac{(x+1)^{\frac{3}{2}}}{\frac{3}{2}}$$

$$1 = 2A \Rightarrow A = \frac{1}{2}$$

$$x=-1 \Rightarrow B=-\frac{3}{2}$$

$$3 = -2B \Rightarrow B = -\frac{3}{2}$$

$$= \frac{2}{5} \sqrt{(x+1)^5} - \frac{2}{3} \sqrt{(x+1)^3}$$

$$f(x) = x + \frac{\frac{1}{2}}{x-1} - \frac{\frac{3}{2}}{x+1}$$

$$= x + \frac{1}{2} \frac{1}{x-1} - \frac{3}{2} \frac{1}{x+1}$$

$$12) f(x) = \sqrt[3]{x^2} + 5\sqrt{x}$$

$$f(x) = \frac{x^2}{2} + \frac{1}{2} \ln|x-1| -$$

$$= (x^2)^{\frac{1}{3}} + 5x^{\frac{1}{2}}$$

$$\frac{3}{2} \ln|x+1|$$

$$= x^{\frac{2}{3}} + 5x^{\frac{1}{2}}$$

$$10) f(x) = \frac{1}{\sin^2 3x}$$

$$f(x) = \frac{x^{\frac{3}{2}}}{\frac{3}{2}} + 5 \frac{x^{\frac{1}{2}}}{\frac{1}{2}}$$

$$= \frac{\sin^2 3x}{\sin^2 3x} + \frac{\cos^2 3x}{\sin^2 3x}$$

$$= \frac{3}{5} \sqrt[3]{x^5} + \frac{10}{3} \sqrt{x^3}$$

- 4 -

9) $\sin(x) \rightarrow \sin(x)$

1011131109 1311131109
□□□

Subject

16) $f(x) = \frac{1}{x^2} \sin\left(\frac{1}{x}\right)$

13) $f(x) = \frac{(1-x)^2}{x\sqrt{x}}$

$= \frac{-1}{x^2} \sin\left(\frac{1}{x}\right)$

$= \frac{1-2x-x^2}{x^{3/2}}$

$f(x) = \cos\left(\frac{1}{x}\right)$

$= \frac{1}{x^{3/2}} - \frac{2x}{x^{3/2}} - \frac{x^2}{x^{3/2}}$

17) $f(x) = \frac{x}{\sqrt{2x+1}}$
 $= x(2x+1)^{-1/2}$

$= x^{-3/2} - 2x \cdot x^{-3/2} - x^2 \cdot x^{-3/2}$
 $= x^{-3/2} - 2x^{-1/2} - x^{1/2}$

$f(x) = \int_0^x f(t) dt$
 $= \int_0^x t(2t+1)^{-1/2} dt$

$f(x) = \frac{x^{-1/2}}{-1/2} - 2 \frac{x^{1/2}}{1/2} - \frac{x^{3/2}}{3/2}$
 $= -2 \frac{1}{\sqrt{x}} - 4\sqrt{x} - \frac{2}{3} \sqrt{x^3}$

$u = t \quad u' = 1$
 $v = (2t+1)^{-1/2} = \frac{1}{2} 2(2t+1)^{-1/2}$

14) $f(x) = \sin 4x \cdot \cos 3x$

$v = \frac{1}{2} \frac{(2t+1)^{1/2}}{1/2}$

$f(x) = \frac{1}{2} [\sin 7x + \sin x]$

$= (2t+1)^{1/2}$

$f(x) = \frac{1}{2} \left[\frac{1}{7} \cos 7x - \cos x \right]$

$f(x) = \left[t\sqrt{2t+1} \right]_0^x - \int_0^x (2t+1)^{1/2} dt$

$= \frac{-1}{14} \cos 7x - \frac{1}{2} \cos x$

$= x\sqrt{2x+1} - \frac{1}{2} \int_0^x 2(2t+1)^{1/2} dt$

15) $f(x) = \frac{(\ln x)^2}{x}$

$= x\sqrt{2x+1} - \frac{1}{2} \left[\frac{(2t+1)^{3/2}}{3/2} \right]_0^x$

$= \frac{1}{x} (\ln x)^2$

$= x\sqrt{2x+1} - \frac{1}{3} \sqrt{(2x+1)^3}$

$f(x) = \frac{(\ln x)^3}{3}$

Subject

18) $f(x) = \ln x$

$$I = \int_0^1 \sqrt{x} dx$$

بہ طریقہ لکھنا
کل طریقہ تیسرا
البتہ

$$F(x) = \int_1^x \ln t$$

$$\sqrt{x} = t$$

$$\frac{1}{2\sqrt{x}} = \frac{dt}{dx} \Rightarrow$$

$$u = \ln t \quad u' = \frac{1}{t}$$
$$v = 1 \quad v' = t$$

$$dx = 2\sqrt{x} dt = 2t dt$$

$$F(x) = [t \ln t]_1^x - \int_1^x 1 dt$$

$$x=0 \Rightarrow t=0$$

$$x=1 \Rightarrow t=1$$

$$= x \ln x - [t]_1^x$$
$$= x \ln x - x + 1$$

$$\int_0^1 t \cdot 2t dt \Rightarrow$$
$$\int_0^1 2t^2 dt$$

$$F(x) = x \ln x - x$$

19) $f(x) = \frac{\ln x}{x}$

$$= \frac{1}{x} \ln x$$

$$u = 2t \quad u' = 2$$
$$v = e^t \quad v' = e^t$$

$$F(x) = \frac{\ln^2 x}{2}$$

$$I = [2t e^t]_0^1 - \int_0^1 2e^t$$

20) $f(x) = \frac{1}{x \ln x}$

$$= 2e - 0 - 2[e^t]_0^1$$

$$F(x) = \frac{1}{x} \ln x$$

$$= 2e - 2[e - 1]$$

$$F(x) = \ln |\ln x|$$

$$= 2e - 2e + 2$$

$$= 2$$

$$1 - \cos 2x = 2 \sin^2 x$$

$$1 - \cos x = 2 \sin^2 \frac{x}{2}$$

13. محمد رسول الله صلى الله عليه وسلم
0922131109



Subject

4) $\int_{-\pi/2}^{\pi/2} \sqrt{\cos x - \cos^3 x} dx$

$$= \int_{-\pi/2}^{\pi/2} \sqrt{\cos x (1 - \cos^2 x)} dx$$

$$= \int_{-\pi/2}^{\pi/2} \sqrt{\cos x \cdot \sin^2 x} dx$$

$$= \int_{-\pi/2}^{\pi/2} |\sin x| \cdot \sqrt{\cos x} dx$$

2) $I = \int_1^2 \sqrt[3]{1-x} dx$

$$\int_1^2 \sqrt[3]{1-x} dx = \int_1^2 (1-x)^{\frac{1}{3}} dx$$

$$= -\int_1^2 (1-x)^{\frac{1}{3}} dx = -\left[\frac{(1-x)^{\frac{4}{3}}}{\frac{4}{3}} \right]_1^2$$

$$= -\frac{3}{4} \left[\sqrt[3]{(1-x)^4} \right]_1^2$$

$$= -\frac{3}{4} [1 - 0] = -\frac{3}{4}$$

$$= \int_{-\pi/2}^0 |\sin x| \cdot \cos^{\frac{1}{2}} x dx + \int_0^{\pi/2} |\sin x| \cdot \cos^{\frac{1}{2}} x dx$$

$$= \int_{-\pi/2}^0 -\sin x \cdot \cos^{\frac{1}{2}} x dx + \int_0^{\pi/2} \sin x \cdot \cos^{\frac{1}{2}} x dx$$

$$= \int_{-\pi/2}^0 \sin x \cdot \cos^{\frac{1}{2}} x dx + \int_0^{\pi/2} -\sin x \cdot \cos^{\frac{1}{2}} x dx$$

$$= \left[\frac{\cos^{\frac{3}{2}} x}{\frac{3}{2}} \right]_{-\pi/2}^0 - \left[\frac{\cos^{\frac{3}{2}} x}{\frac{3}{2}} \right]_0^{\pi/2}$$

$$= \frac{2}{3} \left[\sqrt{\cos^3 x} \right]_{-\pi/2}^0 - \frac{2}{3} \left[\sqrt{\cos^3 x} \right]_0^{\pi/2}$$

$$= \frac{2}{3} (1 - 0) - \frac{2}{3} (0 - 1)$$

$$= \frac{2}{3} + \frac{2}{3} = \frac{4}{3}$$

3) $I = \int_1^4 \frac{\sqrt{1+\sqrt{x}}}{\sqrt{x}} dx$

$$= \int_1^4 \frac{1}{\sqrt{x}} (1+\sqrt{x})^{\frac{1}{2}} dx$$

$$= 2 \int_1^4 \frac{1}{2\sqrt{x}} (1+\sqrt{x})^{\frac{1}{2}} dx$$

$$= 2 \left[\frac{(1+\sqrt{x})^{\frac{3}{2}}}{\frac{3}{2}} \right]_1^4$$

$$= \frac{4}{3} \left[\sqrt{(1+\sqrt{x})^3} \right]_1^4$$

$$= \frac{4}{3} [\sqrt{27} - \sqrt{8}]$$

$$= \frac{4}{3} [3\sqrt{3} - 2\sqrt{2}]$$

Subject

$$\int_0^{\frac{\pi}{4}} \frac{1}{\cos^2 x} \cdot \frac{\tan^3 x}{9} dx$$

$$= \left[\frac{\tan^4 x}{4} \right]_0^{\frac{\pi}{4}}$$

$$= \frac{1}{4} - 0 = \frac{1}{4}$$

$$5) \int_1^{e^3} \frac{1}{x \sqrt{1+\ln x}} dx$$

$$= \int_1^{e^3} \frac{1}{x} (1+\ln x)^{\frac{1}{2}} dx$$

$$= \left[\frac{(1+\ln x)^{\frac{3}{2}}}{\frac{3}{2}} \right]_1^{e^3}$$

$$8) \int_0^{\ln 2} \frac{1}{1+e^x} dx$$

نضرب البسط والعدد في e^{-x}

$$\int_0^{\ln 2} \frac{e^{-x}}{e^{-x}+1} dx = - \int_0^{\ln 2} \frac{-e^{-x}}{e^{-x}+1} dx$$

$$= \frac{2}{3} [\sqrt{(1+\ln x)^3}]_1^{e^3}$$

$$= \frac{2}{3} [\sqrt{64} - 1] = \frac{14}{3}$$

$$= - [\ln(e^{-x}+1)]_0^{\ln 2}$$

$$= - [\ln(e^{-\ln 2}+1) - \ln(2)]$$

$$6) \int_0^1 \frac{e^x}{1+e^x} dx$$

$$= [\ln(1+e^x)]_0^1$$

$$= \ln(1+e) - \ln 2$$

$$= \ln\left(\frac{1+e}{2}\right)$$

$$= - [\ln\left(\frac{1}{2}+1\right) - \ln 2]$$

$$= - [\ln \frac{3}{2} - \ln 2]$$

$$= - \ln \frac{3}{4}$$

$$7) \int_0^{\frac{\pi}{4}} \frac{\sin^3 x}{\cos^5 x} dx$$

$$\int_0^{\frac{\pi}{4}} \frac{\sin^2 x}{\cos^2 x \cdot \cos^3 x} dx$$

$$= \int_0^{\frac{\pi}{4}} \frac{1}{\cos^2 x} \cdot \frac{\sin^2 x}{\cos^3 x} dx$$

$$e^{-\ln a} = \frac{1}{a}$$

Subject

$$12) \int_0^{\frac{\pi}{2}} \sin^2 x \, dx$$

$$= \int_0^{\frac{\pi}{2}} \left(\frac{1}{2} - \frac{1}{2} \cos 2x \right) dx$$

$$= \left[\frac{1}{2} x - \frac{1}{4} \sin 2x \right]_0^{\frac{\pi}{2}}$$

$$= \frac{1}{2} \times \frac{\pi}{2} - \frac{1}{4} \sin \pi - 0 = \frac{\pi}{4}$$

$$13) \int_0^9 \frac{x-1}{1+\sqrt{x}} \, dx$$

$$= \int_0^9 \frac{(\sqrt{x}+1)(\sqrt{x}-1)}{1+\sqrt{x}} \, dx$$

$$= \int_0^9 (\sqrt{x}-1) \, dx$$

$$= \int_0^9 (x)^{\frac{1}{2}} - 1 \, dx$$

$$= \left[\frac{2}{3} x^{\frac{3}{2}} - x \right]_0^9$$

$$= \left[\frac{2}{3} \sqrt{27} - 9 \right] - 0$$

$$= \frac{2}{3} \times 27 - 9 = 18 - 9 = 9$$

$$\int g' \cos xg = \sin g$$

$$\int_1^2 x \cdot \cos(x^2) \, dx$$

$$= \int_1^2 \frac{1}{2} 2x \cos(x^2) \, dx$$

$$= \frac{1}{2} [\sin(x^2)]_1^2$$

$$= \frac{1}{2} [\sin(4) - \sin(1)]$$

$$10) \int_0^{\frac{\pi}{2}} \sin x \cdot \cos^2 x \, dx$$

$$= - \int_0^{\frac{\pi}{2}} \sin x \cdot \cos^2 x \, dx$$

$$= - \left[\frac{\cos^3 x}{3} \right]_0^{\frac{\pi}{2}}$$

$$= - \left[0 - \frac{3\sqrt{3}}{8} \right] = \frac{\sqrt{3}}{8}$$

$$11) \int_0^{\frac{\pi}{3}} \frac{\cos x}{\sqrt{\sin x}} \, dx$$

$$= \int_{\frac{1}{2}}^{\frac{\sqrt{3}}{2}} \cos x \cdot \sin x^{-\frac{1}{2}} \, dx$$

$$= \left[\sin x \right]_{\frac{1}{2}}^{\frac{\sqrt{3}}{2}}$$

$$= \frac{1}{2} - \frac{\sqrt{3}}{2}$$

$$= \frac{1-\sqrt{3}}{2}$$

Subject

$$\begin{aligned}
 4) f(x) &= \frac{\tan^2 \sqrt{x}}{\sqrt{x}} \\
 &= \frac{-1+1+\tan^2 \sqrt{x}}{\sqrt{x}} \\
 &= \frac{1}{\sqrt{x}} (-1+1+\tan^2 \sqrt{x})
 \end{aligned}$$

$$\begin{aligned}
 &= \frac{-1}{\sqrt{x}} + \frac{1}{\sqrt{x}} (1+\tan^2 \sqrt{x}) \\
 &= -x^{-\frac{1}{2}} + 2 \frac{1}{2\sqrt{x}} (1+\tan^2 \sqrt{x}) \\
 f(x) &= -x^{-\frac{1}{2}} + 2 \tan \sqrt{x} \\
 &= -2\sqrt{x} + 2 \tan \sqrt{x}
 \end{aligned}$$

$$\begin{aligned}
 \tan(g(x)) &\rightarrow g'(x) (1+\tan^2 g(x)) \\
 &= g'(x) \sec^2 g(x)
 \end{aligned}$$

$$\begin{aligned}
 1) f(x) &= \frac{\sqrt[3]{\ln x - 5}}{x} \\
 &= \frac{1}{x} (\ln x - 5)^{\frac{1}{3}} \\
 f(x) &= \frac{(\ln x - 5)^{\frac{1}{3}}}{x} \\
 f(x) &= \frac{3}{4} \sqrt[3]{(\ln x - 5)^4}
 \end{aligned}$$

$$\begin{aligned}
 2) f(x) &= \frac{x^2 - 4}{x + 2} \\
 &= \frac{(x-2)(x+2)}{x+2} = x-2
 \end{aligned}$$

$$\begin{aligned}
 3) f(x) &= \frac{\cos^4 x - \sin^4 x}{\sqrt{1 + \cos 4x}} \\
 &= \frac{\cos^4 x - \sin^4 x}{\sqrt{2 \cos^2 2x}} \\
 &= \frac{(\cos^2 x + \sin^2 x)(\cos^2 x - \sin^2 x)}{\sqrt{2} \cos 2x} \\
 &= \frac{1(\cos 2x)}{\sqrt{2} \cos 2x} = \frac{1}{\sqrt{2}}
 \end{aligned}$$

$$\begin{aligned}
 5) f(x) &= (x+2)^5 (x+3) \\
 &= (x+2)^5 (x+2+1) \\
 &= (x+2)^5 (x+2) + (x+2)^5 \\
 &= (x+2)^6 + (x+2)^5 \\
 f(x) &= \frac{(x+2)^7}{7} + \frac{(x+2)^6}{6}
 \end{aligned}$$

$$\begin{aligned}
 &= \frac{1(\cos 2x)}{\sqrt{2} \cos 2x} = \frac{1}{\sqrt{2}} \\
 f(x) &= \frac{1}{\sqrt{2}} x
 \end{aligned}$$

Subject

□□□

$$P(u) = \frac{(\sqrt{x}-1)(\sqrt{x}+1)}{\sqrt{x}(\sqrt{x}-1)}$$

$$= \frac{\sqrt{x}+1}{\sqrt{x}} = 1 + \frac{1}{\sqrt{x}}$$

$$= 1 + x^{-\frac{1}{2}}$$

$$F(u) = x + \frac{x^{-\frac{1}{2}}}{-\frac{1}{2}}$$

$$= x + 2\sqrt{x}$$

$$10) P(u) = \frac{e^{-\tan x}}{\cos^2 x}$$

$$= \frac{1}{\cos^2 x} e^{-\tan x}$$

$$\int g' e^g = e^g$$

$$= -\frac{1}{\cos^2 x} e^{-\tan x}$$

$$F(u) = -e^{-\tan x}$$

$$11) P(u) = \frac{\cos 5x}{e^{\sin 5x}}$$

$$= \cos 5x e^{-\sin 5x}$$

$$= \frac{1}{-5} (-5 \cos 5x) e^{-\sin 5x}$$

$$F(u) = -\frac{1}{5} e^{-\sin 5x}$$

$$6) P = \frac{\tan \sqrt{x}}{\sqrt{x}}$$

$$= \frac{1}{\sqrt{x}} \tan \sqrt{x}$$

$$= \frac{1}{\sqrt{x}} \frac{\sin \sqrt{x}}{\cos \sqrt{x}}$$

$$= \frac{1}{\sqrt{x}} \frac{\sin \sqrt{x}}{\cos \sqrt{x}}$$

$$= -2 \frac{1}{-2\sqrt{x}} \frac{\sin \sqrt{x}}{\cos \sqrt{x}}$$

$$F(u) = -2 \ln |\cos \sqrt{x}|$$

$$7) P = x^4 e^{-\ln x}$$

$$= x^4 \cdot \frac{1}{x} = x^3$$

$$F(u) = \frac{x^4}{4}$$

$$8) P = \frac{1}{x \sqrt{\ln x}}$$

$$= \frac{1}{x} (\ln x)^{-\frac{1}{2}}$$

$$F(u) = \frac{(\ln x)^{\frac{1}{2}}}{\frac{1}{2}}$$

$$= 2\sqrt{\ln x}$$

$$9) P = \frac{x-1}{x-\sqrt{x}}$$

Subject

$$15) f(x) = \sqrt{e^{2x} - 4}$$

$$= \sqrt{(e^{x-2})^2}$$

$$= e^{x-2}$$

$$F(x) = e^{x-2}$$

$$12) f(x) = \frac{\cos^3 x}{\sin^2 x}$$

$$= \cos^3 x \cdot \sin^{-2} x$$

$$= \cos x \cdot \cos^2 x \cdot \sin^{-2} x$$

$$= \cos x (1 - \sin^2 x) \sin^{-2} x$$

$$= \cos x \cdot \sin^{-2} x - \cos x \cdot \sin^0 x$$

$$= \cos x \cdot \sin^{-2} x - \cos x$$

$$F(x) = \frac{\sin^{-1} x}{-1} - \sin x$$

$$= \frac{-1}{\sin x} - \sin x$$

$$16) f(x) = \frac{(1+e^x)^2}{e^x}$$

$$F(x) = \frac{(1+e^x)^2}{2}$$

$$17) f(x) = \frac{3^x}{\ln 3 + e^{3x}}$$

$$= \frac{1}{3} \frac{3^{3x}}{\ln 3 + e^{3x}}$$

$$F(x) = \frac{1}{3} \ln(\ln 3 + e^{3x})$$

$$13) f(x) = \frac{1 - \tan x}{1 + \tan x}$$

$$= \frac{1 - \frac{\sin x}{\cos x}}{1 + \frac{\sin x}{\cos x}}$$

$$= \frac{\cos x - \sin x}{\cos x + \sin x}$$

$$18) f(x) = \frac{1}{\sin 2x} - \cot 2x$$

$$= \frac{1}{\sin 2x} - \frac{\cos 2x}{\sin 2x}$$

$$= \frac{1 - \cos 2x}{\sin 2x}$$

$$= \frac{2 \sin^2 x}{2 \sin x \cos x} = \frac{\sin x}{\cos x}$$

$$= \frac{\cos x - \sin x}{\cos x + \sin x}$$

$$F(x) = \ln |\cos x + \sin x|$$

$$= \frac{2 \sin x \cdot \cos x}{2 \sin x} = \frac{\cos x}{\sin x}$$

$$14) f(x) = \sqrt{e^{2x} + e^{-2x} + 2}$$

$$= \sqrt{(e^x + e^{-x})^2}$$

$$= e^x + e^{-x}$$

$$F(x) = \ln |\sin x| \quad F(x) = e^x - e^{-x}$$

Subject

$$\begin{aligned}
 21) f(x) &= \frac{\ln^2 x - 1}{x \ln x + 1} \\
 &= \frac{(\ln x - 1)(\ln x + 1)}{x(\ln x + 1)} \\
 &= \frac{\ln x - 1}{x} = \frac{\ln x}{x} - \frac{1}{x}
 \end{aligned}$$

$$F(x) = \frac{1}{x} \ln x - \frac{1}{x}$$

$$F(x) = \frac{\ln^2 x}{2} - \ln|x|$$

$$\begin{aligned}
 19) f(x) &= \sqrt{\sin x} \cdot \cos^3 x \\
 &= \sin^{\frac{1}{2}} x \cdot \cos^3 x \\
 &= \sin^{\frac{1}{2}} x \cdot \cos x \cdot \cos^2 x \\
 &= \sin^{\frac{1}{2}} x \cos x (1 - \sin^2 x) \\
 &= \underbrace{\sin^{\frac{1}{2}} x}_{g'} \underbrace{\cos x}_{g'} - \underbrace{\cos x \sin^{\frac{5}{2}} x}_{g'}
 \end{aligned}$$

$$\begin{aligned}
 F(x) &= \frac{\sin^{\frac{3}{2}} x}{\frac{3}{2}} - \frac{\sin^{\frac{7}{2}} x}{\frac{7}{2}} \\
 &= \frac{2}{3} \sqrt{\sin^3 x} - \frac{2}{7} \sqrt{\sin^7 x}
 \end{aligned}$$

$$\begin{aligned}
 22) f(x) &= \frac{e^x}{\sqrt{1-e^x}} \\
 &= e^x (1-e^x)^{-\frac{1}{2}} \\
 &= \underbrace{e^x}_{g'} \underbrace{(1-e^x)^{-\frac{1}{2}}}_{g} \\
 F &= \frac{(1-e^x)^{\frac{1}{2}}}{\frac{1}{2}} \\
 &= -2\sqrt{1-e^x}
 \end{aligned}$$

$$\begin{aligned}
 20) f(x) &= (\cos x - \sin^2 x)^2 \\
 &= \cos^2 x - 2\cos x \sin^2 x + \sin^4 x \\
 &= \frac{1}{2} + \frac{1}{2} \cos 2x - 2\cos x \cdot 2\sin x \cos x + \frac{1}{2} - \frac{1}{2} \cos 4x \\
 &= 1 + \frac{1}{2} \cos 2x - \frac{1}{2} \cos 4x - 4\sin x \cos^2 x
 \end{aligned}$$

$$\begin{aligned}
 F(x) &= x + \frac{1}{4} \sin 2x - \frac{1}{8} \sin 4x \\
 &\quad + 4 \frac{\cos^3 x}{3}
 \end{aligned}$$

Subject

$$25) F = \sin^2 x (1 + \cos^2 x)$$

$$= \sin^2 x (1 + \frac{\cos^2 x}{\sin^2 x})$$

$$= \sin^2 x + \cos^2 x$$

$$23) P_n = (n+1)^2 \sqrt{n}$$

$$= (n^2 + 2n + 1) \sqrt{n}$$

$$= n^2 \cdot n^{\frac{1}{2}} + 2n \cdot n^{\frac{1}{2}} + n^{\frac{1}{2}}$$

$$= n^{\frac{5}{2}} + 2n^{\frac{3}{2}} + n^{\frac{1}{2}}$$

$$= 1$$

$$P_n = n$$

$$F_n = \frac{n^{\frac{7}{2}}}{\frac{7}{2}} + 2 \frac{n^{\frac{5}{2}}}{\frac{5}{2}} + \frac{n^{\frac{3}{2}}}{\frac{3}{2}}$$

$$26) P_n = n \cdot \ln x$$

$x \in \mathbb{Q} \setminus \{-1\}$

$$= \frac{2}{7} \sqrt{x^7} + \frac{4}{5} \sqrt{x^5} + \frac{2}{3} \sqrt{x^3}$$

$$F_n = \int_1^x P(t) dt$$

$$= \int_1^x t^n \ln t$$

$$24) P_n = \frac{\tan 2x}{\sqrt{\cos 2x}}$$

$$u = \ln t \quad u' = \frac{1}{t}$$

$$v = t^n \quad v' = \frac{t^{n+1}}{n+1}$$

$$= \tan 2x (\cos 2x)^{-\frac{1}{2}}$$

$$F_n = \left[\frac{t^{n+1}}{n+1} \ln t \right]_1^x - \int_1^x \frac{1}{n+1} t^n$$

$$= \frac{x^{n+1}}{n+1} \ln x - \frac{1}{(n+1)^2} [t^{n+1}]_1^x$$

$$= \frac{x^{n+1}}{n+1} \ln x - \frac{1}{(n+1)^2} (x^{n+1} - 1)$$

$$= \frac{\sin 2x}{\cos 2x} (\cos 2x)^{-\frac{1}{2}}$$

$$= \sin 2x (\cos 2x)^{-\frac{3}{2}}$$

$$= \sin 2x (\cos 2x)^{-\frac{3}{2}}$$

$$F_n = \frac{x^{n+1}}{n+1} \ln x - \frac{x^{n+1}}{(n+1)^2}$$

$$= \frac{1}{-2} (-2 \sin 2x) (\cos 2x)^{\frac{3}{2}}$$

$$F_n = -\frac{1}{2} (\cos 2x)^{-\frac{1}{2}}$$

$$= \frac{1}{\sqrt{\cos 2x}}$$